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Q. 16) Which of the amount of time given below will be same as that of one day?.

1) 12 x 12 hours
~2) 24 x 60 minutes
3) 24 x 12 x 60 seconds

4) 1/360 year

S5x 3x
Q. 17) Subtract—s—— 3 =?

=
) 4
2) 5
3) 3x

X
4. ==
) 4

Q. 18) ABCD is a quadrilateral. Another quadrilateral PQRS is congruent (same size and
shape to ABCD). £ P and £ S measure 80° which of the statements could be true:

B C

1) PQ=AB

2) ZQ is right angle.

3) All sides of PQRS are of same length.

4) The area of PQRS is less than the area of ABCD.

10
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Q. 19) The test marks in three subjects for Rita and Renu studying in the same class

Q. 20)

are given below:

Physics Chemistry | Mathematics

Renu 72 8 =

Which of the statements below about their average scores is correct?
1) Rita’s average score is higher than Renu’s
~2) Rita’s average score is lower than Renu’s

3) Average score of Rita and Renu are equal

4) Average score of Rita and Renu cannot be compared

The graph shows the distribution of four different types of schools Boys schools,
Glrls schools, Co-ed schools and Evening schools.

Percentage (%) of Schools

\—

B Boys Schools

W Girls Schools
B Co-ed Schools
Evening Schools

Which sentence below is corr_ect?

1) Co-ed schools are more than the Boys schools.
2) Boys’ schools are more than the one-half of the total schools.
3) Evening schools are more than one- third of the total schools.

4) The total number of Girls’ and Co-ed schools is greater than the number of Boys’

schools.

11
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Q. 21) In which of the lists given below, are the numbers ordered from greatest to
smallest?

1) 0355, 04, 043, 0444
2) 04, 043, 0444, 0355
3) 043, 0355, 0444, 0.4
4) 0444, 043, 04, 0355

.22) 3 (5. 6)\_
Q-22) 7+(14x21) ?
5
1) 5
6
2 5
5
8 4
40
9 I

Q. 23) A thin wire 30 cm long is formed into a rectangle. If the width of
is 6 cm. What is its length?

1) 6cm
2) 9cm

this rectangle

3) 12 cm
4) 18 cm

Q. 24) When a new bridge is built, the average time taken by a bus to tray
city to another is reduced from 50 minutes to 40 minutes. What is th
decrease in time taken to travel between two cities?

1) 10%
2) 20%
3) 45%
4) 50%

el from one
€ percentage

12
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Q. 2’5) A square board has
76 cm

by
2)
3)
4

Q. 26) In the figures below, small blocks
If all the small blocks are of the same si
have a different volume than the others?

an area of 7056 cm2. How long is each side of the board?

4

84 cm
86 cm
94 cm

@ are put together to get bigger blocks.
ze, which one of the bigger blocks will

Q. 27) The age of Ravi's father is 5 years more than 3 times Ravi's age. If Ravi's age
is x years, his father's age can be expressed as:

)]
2)
3)
4)

3x+ 5

(x — 5)3
3(x+5)
x/3)-5

13
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Q. 28) From the bar graph given below, in which of the two months the difference
between the consumption of electricity is 30 mega Watts?

1) February and March A 901\
2) February and April ::_ = z
= - £ =
3) February and April =% = £ 5 z
g 50 — § £ =
4) March and May s | 404 2
£ | 30
20—
10—
0 —
Months -

Q. 29) Look at the number line below.

-
-

[
xI T T T || T T

p 0 q

Which of the following has the greatest value?

1) 9 +p
2) 9q-p
3) ap
4) ap

Q. 30) 5 is equal to:

) 5% + 5
2) 2 + 3@
3 5™ =% ¢
4 5™ x 5°

14
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Q. 31) A car travels 60 km in 2 hours. What is the speed of the car?

1) 120 km/h '

2) 60 km/h

3) 30 km/h

4) 20 km/h

Q. 32)

Q. 33)

Q. 34)

Four students boiled same

quantity of water in similar test tubes. They placed
their test tubes

in different zones of the flame as mentioned below:
Student A - Outermost zone

Student B - Middle zone
Student C

Innermost zone
Student D

Between middle and innermost zone
Whose water will boil first?

1) Student A
~2) Student B
3) Student C
4) Student D

A farmer wants to do farming of roses. Which of the methods of propagation
should be followed?

1) Spore formation

2) Fragmentation

3) Gamete formation

4) Cutting

There iS a tree in your school campus. During autumn its leaves shed. What is
the best way to dispose of these leaves?

1) Bum the leaves outside the school campus.

2) Throw the leaves in a nearby water body.

3) Put the leaves in a pit to get compost.

4) Let the leaves scatter in the school campus.

15
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-Q. 35) A ray of light strikes a mirror as shown ih the diagram by the incident ray.

Incident
Ray

The reflected ray would be:

1)
2)
3)
4)

Ray A

‘RayB

Ray C
Ray D

Q. 36) Which of the forces given below is a contact force?

1)
2)
3)
4

Magnetic force - |
Electrostatic force
Gravitational force

Force of friction

Q. 37) A ball is released from point A to travel on different horizontal surfaces. On

which of the following surfaces the ball will travel maximum distance?

1))

2)

e
A

Brick
Glass
Cement

Mud

Horizontal Surface
16
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Q. 38) A ray of light strikes a mirror as shown in the diagram by the incident ray.

Q. 39)

Q. 40)

Temperature City A ~ CityB City C City D

Lowest 18°C e 16°C ~6°C
Highest 420C ¢ 30°C 6°C
Precipitation Ocm 5cm 2.5cm 0 cm

In which city did it snow?

1) City A
2) City B
3) City C
4) City D

Which of the statements is an example of a neutralization reaction?

1) Addition of litmus solution to hydrochloric acid

2) Addition of litmus solution to caustic soda

3) Applying of quick lime (calcium oxide) to basic soil
4) Applying baking soda (sodium bicarbonate) on ant bite

Many industries have come up around the area of Taj Mahal in Agra. Which
of the reasons given below, arising from the industrial presence is damaging the

Taj?

1) Occurrence of acid rain.
2) Effect of noise levels
3) Crowding in the cities

4) Weaving of carpets

17
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Q. 41)

Q. 42)

Q. 43)

Q. 44)

Reshma accidentally placed her hand over a flame and immediately pulled it
back. She felt sensation of heat. The message of sensation is carried through :

1) blood cells.
2) skin cells.
3) nerve cells.

4) muscle cell.

Which one of the following uses the magnetic effect of electric current?
1) Electroplating

2) Electric iron

3) Electric bulb

4) Electric bell.

Which one of the changes given below cannot be reversed?

1) Formation of steam from water

- 2) Buring of coal

3) Dissolving salt in water

4) 4. Melting of wax

When does respiration occur in plants?
1) Only during night time ‘
2) Only during day time

3) All the time

4) 4.Only when photosynthesis does not occur.

18
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- Q. 45) The figure given below shows a food web. In the food web we have the primary
consumers and the secondary consumers.

The arrows point from the organism that gets eaten to the one that eats it.

s H
l[gbbils

é’ Carrots m[[Grassess . ﬂy Grains

Which sentence is true?

1) Primary consumers eat plants.
2) Primary consumers eat animals.
3) Owls are primary consumers.

4) Carrots are primary consumers.

19



TF-81
NAS::2017 CLASS 8

Y. 46) feiear RaTem FHTOrY Adlerr TN,

BT YT U die Wisar FHomeR S99 oy ?
1) W ' \

2) |

3) W
4) R

20



NAS ::2017 ) CLASS 8 ' TF-81

¥. 47) gﬁamﬂammwm msnéﬁmmmﬁmm@g@ﬁmﬁﬁﬁaﬁa

. 48)

W 49)

I ?

2 fﬁmw qre urga,

3) R st Rydrer el awor
4) @mmwww@sﬁwmﬁrﬁ

mmammﬁammm@mmmﬂﬁm
HROT g ?

1) ﬁmmmmawmwwmwm

2) FAUHED YRR AT AT IROARIS) SR Y ATGAT ST IR,

3) wﬁammwmmaﬂmww

4) HRAR SbieR aTeEy Sfamtelar w9ma gear g

Greft faetedr Tp<ded 10" SR 7 10" 0T A7 e Porr gaEE v
geffdem ame? '

1) gdm
2) fagag<ia
3) Wsﬂ?ﬁ'SUT_ '

4w

21



TF-81
NAS::2017 CLASS 8

5, 50) Eﬁﬂmﬂw}wwﬁﬁaaﬁmmmﬁﬁgﬂﬂmﬁmﬁﬂm7
1) WORHR 97 21 a7 18 3 F o,
2) Ul R o,
3) ol v
4) WO Searen

. 51) @Whﬁﬁmqﬁmmaﬂqwﬁ%ﬁﬂmm

22



NAS :: 2017 . ;
CLASS 8 TF-81

7. 527) el R e amadiy frdiamr g

sgpeliefier weafamem (?) gefacian wmr s,
1) AT SRIa” -
2) Bt e
3) wEEE
4) gaur
23



. 53) mﬂﬂﬁmwmﬁﬁﬁmlsﬂmmmmaﬁ?
D) S T g TRAl SR TR ST PIEHTTAT AR GO,
2) ﬁ%ﬂ#ﬁwaaﬁ%ﬁmgﬂﬁawﬁa#ﬁmﬁmmm@.
3) Ry aResiwgr Rl A e affe adiae Aora MR AFTHFTEG
T,
4) R e s ffeer Sfeiter T et ot aera areft smeret wmofia

H. 54) VXU SAT IeIed] TgTedl TUAR @ 10 IufaT qerm P FRG AR, AR
WY e B gen gae™ Secu a1 TRed ST s ?
1) ST gah
2) fremmer gaw
3) T g9,

4) ANUNTRIGCEET g,

7. 55 Q@rfter qafaiddr s v srefiffd swvar e s ?
1) Sad T
2) ad ST
3) g
4) Hdred I

24



NAS::2017
h CLASS 8 TF-81

W. 56) WWQWWWMW?
) mﬁaﬁﬁrﬂmmmmﬁa‘rmm.
2) D ARTA TR PORE 77 T1g, -
3) Wm@m_m%wmﬂw%ﬂﬁ
4) DT & Pelt T DY A7 T,

¥. 57) Mﬂﬁrmmﬁagﬁm@eﬂwmm?
) R

2) fdrgm

3) &9 gfaur

4) I U REST

H. 58) mmﬁ@?ﬁamwaﬁﬂsmmmﬁgﬁ RATTA QUATRTSY
e AR B0 IR ? ™

1) I gy
2) had dg I
3) %ad oY IR

4) U g By AN G

25



NAS : : 2017 CLASS 8 TF-81

. 59) Eﬁﬁﬁﬁmwmméaﬁiﬁmanwmaﬁhamﬂma&fﬁ?ﬁ,aﬁ;ﬁw
W BIE W AT YT, Fpremy et o1 @ sararelier seidt SR .

s THHR Fr ’

3R
ISR =
. S qreoT
4 .i 1568 1358 1574
TS CIGEL
i 1574\ R
1573 156 WS x ‘\
anfar
_ﬁ-"
TTeTaT
SYEFR

2) HEANR.
3) T Q.

26



NAS : : 2017 CLASS 8 TF-81

W. 60) WO FHCAT FIAIS FrEren. 2000 97 WS awoaredt 3vHT M. mﬂm
AT ST0AT ot WTUT=y 2are ?
1) D KA gHH
2 ITOA TR e
3) fovpre Rt gam
4) NS GHH

0oo

27



